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Towheed Iranian School

(International Section)
First Term, Final Exams, 2015-2016

Subject: Social Studies Date: 5/1/2016

Name: Grade: , Section: A D

Exam time: 40 min
Match the below statements with the related concepts: (6 marks)

1. The huge landmass that Europe and Asia are located on it.
2. Home of the first democracy
3. Informal and unofficial aspect of culture that children are taught in
preparation for life.
4. Individuals of roughly the same age and interest.
5. Wide and deep enough for ships to pass.
6. Do not border an ocean or a sea

a. Hidden curriculum b. Peer group c. Athens d. Eurasia
e. Landlocked f. Navigable

| dentify the choice that best completes the statement or answers the question. (11 marks)
7. The most common climate zone in Europe:
a Marin west coast C. Tropical

b. Hot- dry d. Subtropical

8. As aresult of the Scientific Revolution, the 1700s became known as the Age of

a. Learning c. Enlightenment
b. Discovery d. Empire
9. The classical world refers to which of the following?
a Reformation C. Middle Ages
b. Renaissance d. Ancient Greece and Rome
10. Muslim troop and troop fought in the crusades.
a Asian C. Judaism
b. Christian d. African

11. Which of the following options did not led to Europe’s ethnic mix?
a Wars C. Economical changes
b. Changing boundaries d. Migration

Social Studies Grade 8 Term one 2015-2016 Page 1

Mark



12.Which of the following is not an element of socialization during childhood?
a Media c. School
b. Family d. Work environment

13. Which types of revolutions occur after the 1600s?
a. Political c. Scientific
b. Industria d a b& caretrue

14, Which of thefollowing optionsis not related to propaganda?
a. Theuse of idea, information or rumors to influence opinion
b. Mostly delivered by schools and families
c. A type of advertisement that some times takes side
d. Mostly delivered by the media

15. A country that its people share a common culture or history is called

a. Nation-state c. Feudalism

b. City-state d. Democracy
16. Average number of children born to each womanis

a. Birthrate c. Fertility rate

b. Deadrate d. Life-expectancy

____17. Which of the following statements is wrong?

Urbanization resulted with the most people living in cities and towns.

Today, Paris and London are two of the largest citiesin the world.

Urbanization resulted with the most people living in villages.

Europe from arural, farming society changed to urban, industrial onein the late
1700s.
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Essay

18. What are westerlies? How do they affect the climate of Europe? (2 marks)

19. What role does the mass media play in socialization? Explain by using related
examples. (1 marks)
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